Math 72: Selected Review Chapters 5-6

1) Find the domain of the rational function. f(x) =
2) Find the x-intercept(s) of the rational function. f(x) =

3) Find the y-intercept(s) of the rational function. f(x) =

x242x-3

4) Simplify the rational expression. ————

x+3 x-1

5) Add the rational expressions. Pyl

x+3 x-~1

2x+3  x+3

6) Subtract the rational expressions.

x+3 _x—1
2x+3 x+3

7) Multiply the rational expressions.

.. . . x+3 x-1
8) Divide the rational expressions, —— + —
2x+3 x+3

.. x%+2x—3
9) Divide. ——~
x+9

10) Perform the indicated operations and simplify.

x-1

11) Simplify the complex fraction. —;*—E—
2x+3

x2+2x-3

12) Solve the rational equation. Zeironts =

13) Solve the rational equation and round to the nearest hundredth.

x242x-3
2x%249x+9

x24+2x-3
2x2+9x+9

x24+2x-3
2x24+9x+9

2x+3 (x—l 2 x-
x+3

x+3/  x+3

xZ+2x-3 __
2x24+9x+9

14) Shelly can cut the lawn with a riding mower in 3 hours less time than it takes William to cut the lawn
with a push mower. If they can cut the lawn in 4 hours working together, find how long to it takes for
each to cut the lawn alone. Write an algebraic equation and use your graphing calculator to solve.

Round to the nearest hundredth of an hour.



MW(’C\ 3 So CAWO‘V\.S —+o Ghoup e ke C/(/\a,‘cr\-ef'\S' 5-6 5%'@,(,4—60{ o wvvedd
@ T:\'vuo‘ Hhe dovnarn D‘F -PL)L) = X7‘+ 2AX -3 ' '
X+ 9x +9

Tonon 1s all re ol nuwmloers QICCQ_@% ol e ‘n/\ad nelce The
denominato s 1ero, caUs ™g divide ‘o;a,le/ro.

Denown F O 2.3

X"+ + A= O 18
K

XL ox+3x+9A= O q

| A(x+3) +3(x+3)=0
(x+3) (x4 =0

{ \
X3 - Ih+B=0
N = 3
Xt 32
2
L’Dovm‘m Rx: xew®, x+-3, x4 '%zj sek wotechion
DA DA s>
-2 ‘3/2 o

. E.oo,'?) U(-3,-3y o (-_a;/ooa (wterval notahon

ind dae x—inke e p¥s) oF £ = Frax-3
e Kaax-3

2+HaAx +9
Poinks on  X-axis \V\M—Q bb;"ot
Replace fo=y=o0.
0= w Ciross - mulhe\
AW+ A%+ 4 (vr me’iP\\f \0\/ L.CD)
0 (2 +Ax+) = Xk -2
0= X4+Mx-> '>°-*<\
e
0= ()H—?)(X-"—Q 2
J
X= -2 x= |

o
- EXCEPT ... X=-3 is vot mhe dovmain:

_ wa\v\)rwuqa’r € 4oy |




@ Find Mae '\ovivx‘\’erv;e?*'s of 1) = *+2x-3
x4+ 9% +9
Poihh on e \rcu\s have x=o.
foy= 07+ 2(0)-3
2(0Y+9(0)+9

=

-1
3
\\B" wAe r'c,z‘o§’ (O ) wéﬂ

@ Slmp\i\c-a. Hae rahovnal ex‘;mgs‘\oh o — D

2+ U+ A

Fadory ¥4 Ix-3
-3
3>7_<‘ (se+2)(x-1)

Factor 2%+ A% +9

‘;‘8 AX 4 ox + Bx + 9
N | |
>q< = W (X3 2) +2(X¥3)

= ()24
"L )
4 D -2 (x»/v_,}(x_\) . < —1
9-)(1-\—~OIX +9 s}l-\% )('3)(4*3) 19X+
G Add w3, xoL
XKD XA+3
need commomn Aemom"«na:\*aw
_— x> X¥> x—\ , AxED
Ty XA Yt Oxi3
t 1
nuly muls

by | by |



= XA3(x+3) + (x=0(2%43)

(2 (2x43) FolL “wice.
4o 5\m‘pii437' nuwnevettor

= XT4B%a3%4q 4+ A +3K—Ix-3

(XY@ XA3D)
S A
= ' X CQ Fader nuwimerocto~
(x42)(2x+2) e LIS —» @
, >< 24 — U
3 3.6 — A9
maMwOp**D‘f'S
Numerader does netfactow,
Sulotvact X+3 v
Ax4-3 xX+3

need cormmmnon Aeinormiviato~

= XD 43 x—| 2x43

2AX4+D  X¥3D X+32 22X+ 3

1
W\wH'bj i Foill.twice
* Must |\ D
= VX’L~\'3X+3Y+~“1 — (’).)&7' +2x '7-)<~—‘53 %Z—;\,\:j’i&a meaa:{%y@,
(X+5X’2_x+3§

2 .

= X Hex+d — (287 +x-2) comboine

(X2 )X+

X h Gx +94 — K —x +73 dist neg

(X 4+2DH(2X+)

- 2

X+ 5X +l?_"_ Tty iumnerado~

' & =)

(X2 ) 2%43) ~ (F-Bx—\2)
_ T = -1 -2+ = -1
- (<—5x—12) >( - (0'14'7_ = -4

(A (AxxD) -5 “ 4 4> =

vio oYl O@—H oS



@ Mulkipy 43 x-

e

AIX+3 X3

= (%% ()
(243 (x5
S b=

AX+S

@ Divide  x3 .

I3 X432
= (2) ()
(,‘lx’\;b) C)(“IB ietta nﬁ Catncds‘l

@A Duide _>c1+9~)<»—3

X+-q
jJ z 2 -3
_q o3 6dw\’€\e\-\‘o division
! 7 GO
_Go
\ KX —="T+ ><+<1\
(o) x+3 ()3—_—_(_ N - v
X+3 X¥z) ~ x+3
= 43 ) (%= - |
/)—X + (X \>(X \) - %) Ot'cier‘o-c OF@@HD\AS
X+3 OA)(x43) T K expovent befove divide

= AX4D (X—AXX/() . CX \ _\ |
e (e Y04%) fg% divide before add



=  Qx+3 4 Xl |
X+ VX+-3 a\rea&j vore- a covanon Ocenovn‘amcd‘bw

= A -1
(X¥3)

= |2x42
| %3

X -\

X+
x+3
PNCaC
Metfiod | :
X . X43
X423 1 x4
= XZI | 2x3
NG ) Y4+3
= | (x=D(2%¥3)D
(X+2)*
Method 2
— -M(’ZX‘%«)
X% | Wby LD
S=4 mult by = =\

XA ( X2%) (2%
Q}Aé |

= {(x0)(2x+3) |
( XA2)*"




CE Xk 2% -3

o .

2x* 4 ¥+ 4 A;C(/\OW\:# O
N - 2X5 G 4
a4 bj LED o cross—ima (‘HPLL_, oy A
o lo 2
XT42x -3 = ©. (2x*4+9x +ﬁ) a
2.
X H2K -2 = O 2K+ lox +3 x4+ 9
-3 '
3><_‘ 2x (X+3) +3(x+3)
2 (x+2)(2x+3)
(k+3)(x—1) = O X*r3 o0 2X43 £ o
X+3=20 x-l=o X=#-3 X * -3
X< [¥=1] X ¥ ‘%
Vajec’r'
L X vzming ouS
\3) XT2x -2
\ = —
— 2x5 3G x4 9 denomto
Saww as (2
- . g . X = —-3
2 2 z
XHax 3 = | (2 4 9% 4 9)
Z
X +dx -3 = Ax" +9x —9
oF 3 A e
| . e —1, ¢ = 5
O = X"+Tx—6& )/ -2,3 — |
e [V=) 7\ 3,2 =
~ =1 -6, 1 = -5
Yi= X*+7x (¢ Ale not possible.
[ 2nd][TRACE| —+o {zrcho !
2.Zevo
it
) %ﬁessf
(Repeat) x < <117
K L1122 x= o717
eEr




@ 5‘4—6“43'5 +vne. = w“i”l\&l/(/vz’i + e —3

S=w-3

U.):‘)r/( e
o L

w-3 w

Lf
medt all by LCD = Huw (W -3)
o Hw( "3> L, lw-3) 1 Awiw3
W3 [ T W T )

Hw + G (w-3) = w(‘w,g)
Sw > —Sw +IZ_
O = (w—Illw +[2-
2 -, -2 — ~—I3
- -2 6 — =%
=] [RARET
A ‘2
Y= X=X+ 2 e
1 prlirence|
ek’ /{ (Qﬁfa&)
Rigt ¢
Guess?
=____
7 xa2 4172
XX 1.22% R RE
W =23
IF w=1.23 tp w=[A7T hes Wihoan- |
/n/\i\/\ ) /3 = \ 5 "Z | S————
= M.ﬂah\}e,.
- = T @

—
Thon W 3= AT =3 :l T s Shully \
exhvane oud




	M72 28 c5-6 Group Work with solutions
	M72 28 c5-6 Group Work with solutions addl
	M72 28 c5-6 Group Work with solutions

